hon)
oy

\
’

H..

HEXEHNT=2FE ALY RAEZARES
AR BEMERAR # B 43k - A3-12-04
£ B.: RS wEmB_/ Ax_/

(BEBES5 % £100%)

1 R y+n’=5 SEBBBADZKTEX

d2
2. ¥*+y*=5 K Ex—i}i
b & dy (x+2) (GBx- 2)2
. c = b °
3. AT A2 — (@ y=In () ox—2
e & . . In(lnx)
4. MR T HZ4&K (a) limx™ (b) lim
x0° = In(x - Inx)

5. Bk f(x)=5+3x-x* & [02] REHEEFLE -
6. f(x)=5x>=3x+1" [a,6]=[1,3] » 4] A 3448 3 R P eycil e
7. R HAHEHERHAER G f()=4x"-3x"

8 MKy=x' £ y=x+2¢-2x > AEZEBREH

0. WATHSME @ & [fr-Tax () D2t

© [—S=dr (@) fx*Inx d

l+«/3c_
©) _[e“dx (O [xinxax
@ [ [y s @ [ [oe”dr -
10, Bu=Inyx+ 7 EA % u gy‘;-()o
11. 2L flry)=x"+y —6xp Z¥E -




